Plan Finish	for too	day:									
7.4	17.0										
1. C 0	Compu f a La	te Lapl olace tr	ace tra ansforr	nsform n invol ^ı	of func ving a tr	tion in anslat	volving ion	y an ex	kponer	ntial or 1	the inverse
2. B 3. B	le able le able	e to rec e to use	ognize the co	a conv	olution on theoi	rem to	comp	ute th	e Lapl	ace trar	nsform of
t	ne cor	volutio	n of tw	o funct	ions						
4. K 5. K	lnow t lnow t	he form he form	nula tur nula tur	ning m ning di	ultiplica vision b	tion by y t intc	rt into integi	differe ration	entiatio in s	on in s	
Anno	uncer	nents-F	Remind	ers							
1. R	lead th	ne Textl	book1		(001) +-		- finel				7.0
2. S	yncnr 1ore ir	onous o Iformat	ion on t	the loca	(901) ta ation wil	kes the I be ar	e final nnound	ced to	son or day.	i iviay 4	, <i>1-</i> 9 pm.
3. A	synch	ronous	online	section	ר (OL1) ו	takes t	he fina	al <mark>o</mark> nlir	ne on N	MyLab I	Math, <mark>May</mark>
4	, 7pm Juiz ar	-May 5 ades w	, 7pm. ill be p	osted k	w Monc	lav					
1. 3	anz gr				y mone						
7.	3 ((ast	part)	:	transl	ation	on	S	axis		
T	16	f	is u	lice	eyou	ah					
	1			Sat	f (+) {	0	F(s-	a)		(FG)=15fait
			(=)	[C [- \	SF(5-9)3		ats			
				<u> </u>	2.	5 4)	5- e	J	(π)		
44	Mu	(tipli	catio		y exp	. (-	-, +	rans	Intip	in in	S.
4	Pr	operh	1	4 in	Lag	cle	tabl.	e			
٤x		1-1	3 1	- 6	=	pa	t	[]{	13	Ŧ	eat.1
			(5-1	a J				C	27		
ς.		E (5 -							
	-	+(!	>) =	(5	+1)3						

WI partial fractions $\frac{S-1}{(S+1)^3} = \frac{A}{S+1} - \frac{B}{(S+1)^2} + \frac{C}{(S+1)^3}$ way 2nd $= \frac{1}{s^2} - \frac{2}{s^3}$ wey $\mathcal{L}^{-1} \{F(s)\} = \mathcal{L}^{-1} \{F(s+1)\} = e^{-t} \mathcal{L}^{-1} \{S\} = e^{$ $= e^{-t} \left(t - t^2 \right)$ Constation Laplace doemit play well w/ products of functions. 14 c is coust. then $\Delta \{c ferrig = c \lambda \{ferrig\}\}$ but: $L \{ \{ \{ (1), f_2(1) \} \neq L \{ \{ (1) \} \} \} \}$ $\begin{bmatrix} Take & f_1(t) = 1 = f_2(t) \\ 2\xi_1 \cdot 1\xi = 1\xi_1 = -\frac{1}{5} \\ \xi_1 \xi_1 \xi_1 \xi_1 = -\frac{1}{5} \\ \xi_1 \xi_1 \xi_1 \xi_1 = -\frac{1}{5} \\ \xi_2 \xi_1 \xi_1 = -\frac{1}{5} \\ \xi_2 \xi_1 = -\frac{1}{5} \\ \xi_2 = -\frac{1}{5} \\ \xi_1 = -\frac{1}{5} \\ \xi_1 = -\frac{1}{5} \\ \xi_2 = -\frac{1}{5} \\ \xi_1 = -\frac{1}{5} \\ \xi_2 = -\frac{1}{5} \\ \xi_1 = -\frac{1}{5} \\ \xi_1 = -\frac{1}{5} \\ \xi_2 = -\frac{$ Couv: an operation between functions which plays well of daplace.

Defn: f, g pieceuise continuous, on Co, ~) $f \approx g(H) = \int (T) g(H-T) dT$ convolution $\frac{Couv.}{is commutative:} \qquad f \neq g = g \neq f$ $\frac{f \neq g}{f \neq g} = g \neq f$ $\frac{f \neq g}{f \neq g} = f \neq f$ $\frac{f \neq g}{f \neq g} = g \neq f$ $\frac{f \neq g}{f \neq g} = g \neq f$ $\frac{f \neq g}{f \neq g} = g \neq f$ $\frac{f \neq g}{f \neq g} = g \neq f$ $\frac{f \neq g}{f \neq g} = g \neq f$ $\frac{f \neq g}{f \neq g} = g \neq f$ $\frac{f \neq g}{f \neq g} = g \neq f$ $\frac{f \neq g}{f \neq g} = g \neq f$ $\frac{f \neq g}{f \neq g} = g \neq f$ $\frac{f \neq g}{f \neq g} = g \neq f$ $\frac{f \neq g}{f \neq g} = g \neq f$ $\frac{f \neq g}{f \neq g} = g \neq f$ $= \int_{g(u)}^{t} f(t-u) du$ q+4 (+) Convolution Theorem fig nice. Then $L \{ 4 \neq q \} = L \{ 4 \} L \{ q \} J \}$ Laplace terres convolution into multiplication. $\Sigma_{K:}$ Find $L^{-(2F(s))}, F(s) = \frac{S}{(s-3)(s^2+1)}$ Istuay: Partial fractions



) Alternate way: from (1)
=
$$\cos(t) \neq e^{3t}$$

= $\cos(t) \neq e^{3t}$
= $\int \cos(t) e^{3t} dt$
= $e^{3t} \int \cos(t) e^{-3t} dt$
exercise $e^{3t} (\frac{1}{10}e^{-3t}) e^{-3t} dt$
= $e^{3t} (\frac{1}{10}e^{-3t}) e^{-3t} dt$
 $\frac{1}{10}e^{-3t} dt$
 $\frac{1}$

nultiplication / division in t. 3. $L \left\{ - L \left\{ (t) \right\} = F(s) \right\}$ [table (a) $f(t) = -\frac{1}{4} L^{-1} \left\{ F'(s) \right\}$ [entry 19] 9. If $\lim_{t \to 0^+} \frac{f(t)}{t}$ exists & is finite then: $\int \frac{f(t)}{t} \frac{f(t)}{t} = \int F(0) d0$ $(=) \quad f(f) = \frac{1}{2} \int_{-\infty}^{\infty} \overline{F}(\sigma) d\sigma \qquad (not \ on \ table)$ E_{x} : $L \{ \{ \{ cos(2t) \} \}$ By Petin: Je-st t²cos(2t) dt Delead: BP not fun Instead: $\lambda \{ \{ \{ 2 \} \} = \lambda \{ (-1) (-1) \} = \lambda \{ (-1) (-1) \}$ $= \frac{d}{ds} \int_{1}^{\infty} \frac{(-1)\cos(2t)}{(-1)\cos(2t)}$ $= \frac{d^2}{ds^2} \mathcal{L} \left\{ \cos(2t) \right\}$

